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(a)

C X1(w) = exp(j2wT) + 2exp(jwT) + 3 + 2 exp(—jwT) + exp(—j2wT)
= {exp(jwT) + 1 + exp(—jwT)}?

exp(jwT) + 1 + exp(—jwT) = 2:%(%%% DTy

.\ (sin(3/2)wT\?
X1(jw} = (sin(l/Z)wT)

(b)

Xo(jw) = 1+ 2exp(—jwT) + 3exp(—j2uwT) + 2 exp(—~j3wT) + exp(—jdwT)
= {exp(j2wT) + 2exp(jwT) + 3 + 2 exp(—jwT) + exp(—52wT")} exp(—j2wT)

(a) &b,

(sin(3/2)wT 2

Xo(jw) = W) exp(—j2wT)

(c)

Xa(jw) = 1+ 2exp(—72wT) + 3exp(—74wT) + 2 exp(—j6wT) + exp(—j8wT)

Xé(jw)' = 0.5exp(jwT) + 1+ 1.5 exp(—7wT) + 2exp(—72wT) + 2.5 exp(—73wT) |
: +3 exp(—j4wT) + 2.5 exp(—75wT) + 2 exp(—j6wT) + 1.5 exp(—jTwT) -
+ exp(—78wT) + 0.5 exp(—79wT) '

E¥5E,

LR

CXa(w) = [XaGe) + Xt + (/D]

[EBA)

X3liw +7/T)} = 05explj(w +1/T)T} + 1+ L5exp{—j(w +n/T)T} + 2exp{—j2(w + = /T)T}
+2.5exp{—j3(w + 7 /T)T} + 3 exp{~j4{w + ﬂ/T)T} + 2.5exp{—75(w + = /T)T}
L : +2exp{—j6{w + 7/T)T} + 1.5 exp{—57(w + 7/T)T'} + exp{—3j8(w + 7/T)T}
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+0.5exp{—79%w + n/T)T'}
= 0.5exp(jn)exp(fwT) + 1 + 1.5 exp(—jw) gxp(-—ij)
12 exp(—27) exp(~720T) + 2.5 exp(— j37) exp(—73wT)
+3 exp(—j4n) exp(—jdwT) + 2.5 exp(—j57) exp(—j5wT)
+2 exp(—j6m) exp(—76wT) + 1.5 exp(—j7m) exp(—FTwT)
+ exp(—§87) exp(—j8wT) -+ 0.5 exp(~jor) exp(—j9wT)
= —0.5exp(jwT) + 1 — L.5exp(—jwT) + 2exp(—j2wT) — 2.5 exp(-—ijT)
43 exp(—74wT) ~ 2.5 exp(—75wT) + 2 exp(~j6wT) — 1.5 exp(—jTwT)
" exp(—§8wT) — 0.5 exp(—79wT)

L LT,

2

Xa(jw) = = [Xs(w)+ Xa{itw + (/D)) (EBED D)

' 1 o :
Xgljw) = §[exp(j5wT) + 2 exp(j4wT) + 3 exp(j3wT") + 4 exp(j2wT)

+5exp(§wT) +6+5 exp(—jwT) + 4 exp(—j2wT)} + 3 exp(—73wT)
+2exp(-~j4wT) + exp(—75wT)] exp(—j4wT)
1 .5 .3 1 .1

= lexp(j5wT) +exp(fowT) + exp(j5wT) + exp(—J 5vT)

+ exp(jng) + exp(——j—ng) }2 exp(—j4wT)

.5 .3 1 1
S = exp(j §WT) + exp(jin) + exp(J —Z-wT) + exp(—j EwT)

: .3 .5
+exp(j —éwT) + exp(—J —z—wT)

LAY, S exp(f(5/2)wT). HEIt exp(—jwT) OELBEFIOMROT,

_exp(jiwT) —exp(—jiwT) _ exp(j3wT) — exp(—jdwT) _ _sinduT

S L~ = ~
1 — exp(—jwT’) exp(jiwT) — exp(—j5wTl)  sin(1/2)T
roT.
' 1 sin3wT \2
i) = = [P — 4w T
Xslgw) = 3 (sin(l/2)wT) exp(—j4T)
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(1)

Sin(27 fnT) = %[exp(jQﬂfnT — exp(—j2n fnT)]

oo - .
Xijw) = z [(nT) - u(nT — 10T)]:?-]fj_-[exp(j2_1rfnT) —exp(—j2n fnT)} exp(—jwnT)
n=-—0og
1 & o o n gl :
= 5 :L;o exp(j2r fnT) exp(—jwnT) P 5 2_:6 exp(—727 fnT) exp(—jwnT)
1 P
= o= Z exp(—H{w — 2n fInT) -’lj 57 Z exp{—j{w + 27 f)nT)
“j n=0 J n=40
w—omf=w &TBE, 4
n 1
g9 . ' : ;
. sin dw T L '
nzzfzjexp(“ﬂw nT) (/20T exp(—j(11/2)w T)
& oT,
. 1 isind{w - 20 f)T 11 sin5(w + 27 f)T .11
X LR p—— —d g — —_
Wy = [ n sty iy = 2D+ S e 4 2e0)T)

(D) () LB

. 21 sin 10(w 4 27 )T 21
X = = —fo—(w ~ —j(w — 27 f)T
s{jw) prm ”—22”52" exp(—j 5 (w | 27rf)T)+ o w+1217r5 | exp(—~7 5 (w .7rf) )]
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1 [sinlo(w — 2 f)T
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